Recruitment of Sub-Inspector in Delhi Police, CAPFs and Assistant Sub-
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Question ID : 98958010091
Status : Answered
Chosen Option : 4
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Ans - X 1. MOQ

v 2 KQM
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Question ID : 98958010087
Status : Answered
Chosen Option : 2

Q.3 Two positions of the same dice are given. Which number will be at the top if *6" is at the bottom?

Ans X 1. 9

X2 1
Vs 4
X 43

Question ID : 98958010125
Status : Answered
Chosen Option : 3
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Ans

X1 | —=X+AO

X2 | X+O—A

X3 |—+XAO

Vi |—=X+0A

Question ID : 98958010123
Status : Not Answered
Chosen Option : --
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X+ s+ 438
X2 _ 3+ 63k 4
X x3r- 236
vix 3+ 83HR 6

Question ID : 98958010120
Status : Answered




l Chosen Option : 4

Q.6 In the following diagram, the triangle represents ‘dancers’, the circle represents ‘swimmers’, the rectangle represents
‘students” and the square represents ‘cricket fans’. The numbers in different segments show the number of persons.

Dancers — /13 15 +—— Cricket fans

12 |+— Students

11 +—— Swimmers

How many student dancers are swimmers but not cricket fans?

Ans ?(1 3

Question ID : 98958010135
Status : Answered
Chosen Option : 2
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Question ID : 98958010129
Status : Answered
Chosen Option : 1
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Question ID : 98958010118
Status : Answered
Chosen Option : 2

Q.9 In the following diagram, the triangle represents ‘players’, the circle represents ‘students’ and the rectangle represents
*high achievers’. The numbers in different segments show the number of persons.

Players +——— Students
8 /3 ( 10 \ 12 } 6
*+——— High Achievers

How many high-achieving students are not players?

Ans x-]_ 13
v 12
X33
X 415

Question ID : 98958010134
Status : Answered
Chosen Option : 2
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Question ID : 98958010093
Status : Answered
Chosen Option : 2
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Question ID : 98958010128
Status : Answered
Chosen Option: 3
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Question ID : 98958010119
Status : Answered
Chosen Option : 4
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Question ID : 98958010130
Status : Answered
Chosen Option : 4
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Question ID : 98958010105
Status : Answered
Chosen Option: 3
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Question ID : 98958010096
Status : Answered
Chosen Option : 4
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Question ID : 98958010121

Status : Answered

Chosen Option : 4
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Question ID : 98958010126
Status : Answered
Chosen Option : 4
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Ans X 1.6 : 18
X28:32
X312 : 72
v 14 : 94
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Question ID : 98958010114
Status : Answered
Chosen Option : 4
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Question ID : 98958010133
Status : Answered
Chosen Option : 2
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Question ID : 98958010112
Status : Answered
Chosen Option : 1
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Question ID : 98958010088
Status : Answered
Chosen Option: 3
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Ans X1 {12, 24, 32}
X 2 {25, 40, 56}
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Question ID : 98958010117
Status : Answered
Chosen Option : 4
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Question ID : 98958010086
Status : Answered
Chosen Option : 1
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Question ID : 98958010111
Status : Answered
Chosen Option : 4
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Question ID : 98958010097
Status : Answered
Chosen Option : 3
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Question ID : 98958010103
Status : Answered
Chosen Option : 4
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Question ID : 98958010095
Status : Answered
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Chosen Option : 4

Question ID : 98958010104
Status : Answered
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Ans X 1.56 : 11

V278 :13

X318 :9

X434 :7

Question ID : 98958010115
Status : Answered
Chosen Option : 2
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Question ID : 98958010116
Status : Answered
Chosen Option : 2
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Question ID : 98958010131
Status : Answered
Chosen Option : 1

Q.3 Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.
2

Sleep

Cold

. Blanket

Winter

. Warm

. Shop

Ans of 1 4.2.6,3.5. 1
X2 43,6215
X3 4,3,2,6,1,5
X 46,3,2,1,4,5
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Question ID : 98958010089
Status : Answered
Chosen Option: 1
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Question ID : 98958010106
Status : Answered
Chosen Option: 3
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Question ID : 98958010107
Status : Answered
Chosen Option : 2
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Question ID : 98958010109
Status : Answered
Chosen Option : 4
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Question ID : 98958010102
Status : Answered
Chosen Option: 1
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Question ID : 98958010127
Status : Answered
Chosen Option : 2
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Question ID : 98958010122
Status : Answered
Chosen Option: 3
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Question ID : 98958010094
Status : Answered
Chosen Option: 3
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Question ID : 98958010092
Status : Answered
Chosen Option: 3
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Question ID : 98958010132
Status : Not Answered
Chosen Option : --
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Question ID : 98958010100
Status : Answered
Chosen Option : 4
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Question ID : 98958010124
Status : Answered
Chosen Option: 3
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Question ID : 98958010113
Status : Answered
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Question ID : 98958010110
Status : Answered
Chosen Option : 2
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Question ID : 98958010099
Status : Answered
Chosen Option : 4
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Question ID : 98958010108
Status : Answered
Chosen Option: 3
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X 2 EIQU
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Status : Answered
Chosen Option: 2
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Ans of 1. CXWD
X 2 BYWE
X 3. CXVB
X 4 BZXC

Question ID : 98958010098
Status : Answered
Chosen Option : 1
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Question ID : 98958010101
Status : Answered
Chosen Option : 3
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Question ID : 98958010204
Status : Answered
Chosen Option : 2
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Question ID : 98958010198
Status : Answered




l Chosen Option : 3
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Question ID : 98958010220

Status : Not Answered

Chosen Option : --
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Question ID : 98958010192

Status : Answered

Chosen Option : 2
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Question ID : 98958010226
Status : Answered
Chosen Option : 4
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Question ID : 98958010224
Status : Answered
Chosen Option : 3
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Question ID : 98958010193
Status : Answered
Chosen Option : 1
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Question ID : 98958010218
Status : Not Answered
Chosen Option : --

Q.5 is/are being considered an alternative to reduce the country’s crude oil imports worth Z7 lakh crore. It/They can
9 also be a potential weapon to fight increasing pollution.

Ans o 1. Biofuels
/< 2. Phytoremediation

/< 3. Alr purifiers
/< 4 Extractor fans

Question ID : 98958010199
Status : Answered
Chosen Option : 1
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Question ID : 98958010212
Status : Answered
Chosen Option : 2
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Question ID : 98958010209
Status : Answered
Chosen Option : 1
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Question ID : 98958010235
Status : Not Answered
Chosen Option : --

s is the study of viruses.
Ans % 1. Parasitology

/< 2. Mycology

« 3. Virology

/< 4. Protozoology

Question ID : 98958010233
Status : Answered
Chosen Option: 3
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Question ID : 98958010227
Status : Answered
Chosen Option : 2
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Question ID : 98958010206
Status : Not Answered
Chosen Option : --
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Question ID : 98958010222
Status : Not Answered
Chosen Option : --

Q.6 InJanuary 2019. the Department of Science and Technology partnered with Doordarshan to launch two free-to-air
channels DD Science and an Internet-based channel which will offer live, scheduled play and videc-on-demand
on science topics.

v 1. India Science
/< 2. India Technology

/< 3. Internet Science
/< 4 India Live

Question ID : 98958010208
Status : Answered
Chosen Option : 1
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Question ID : 98958010225
Status : Not Answered
Chosen Option : --

Qéf’ The sky appears blue due to:
Ans 3 1. Refraction of light
/< 2. Reflection of light
/< 3. Dispersion of light
« 4 Scattering of light

Question ID : 98958010205
Status : Answered
Chosen Option : 1
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Question ID : 98958010230
Status : Answered
Chosen Option: 3
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Question ID : 98958010202
Status : Not Answered
Chosen Option : --
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Question ID : 98958010228
Status : Answered
Chosen Option : 1
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Question ID : 98958010219
Status : Answered
Chosen Option : 4
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Question ID : 98958010194
Status : Answered
Chosen Option : 4

Qé7 Why do water droplets always take a round shape when dropped onto plane surfaces?

Ans % 1. Due to atmospheric pressure
+ 2. Due to exersion of surface tension by the molecules

/< 3. Due to gravity
/< 4. Due to the presence of Eddy Currents in the air

Question ID : 98958010216
Status : Answered
Chosen Option : 2

% = ot gem A T ¥ g &
Ans X"m
v 2 FF AR ®ER




X 3. TIEAH
< 4 giygmom

Question ID : 98958010221
Status : Answered
Chosen Option : 2

Q.7 ] i 2 :
- The spectrum of light was first explained by

Ans X 1. Neils Bohr
# 2. Albert Einstein
X 3 Galileo Galilei
o 2 Isaac Newton

Question ID : 98958010201
Status : Answered
Chosen Option: 1

Q.7 In Jamuary 2019, the Competition Commission of India (CCT) approved a deal wherein Samara Capital-backed Witzig
8 Advisory Services and Amazon will acquire , which operates a supermarket store chain called ‘More’.

Ans 1. Reliance Retail
/< 2. Godrej Consumer Products Ltd

« 2. Aditya Birla Retail Ltd
/< 4. Future Group

Question ID : 98958010207
Status : Answered
Chosen Option : 3
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Question ID : 98958010188
Status : Not Answered
Chosen Option : --

Q.8 Pune-based organisation conducted a study using a 15% M-15 methanol blend in vehicles and tested them for
0 3.000 km to evaluate emissions in real-world conditions as well as to check the performance of the vehicles.

Ans 1. Vehicle Organisation of India (VOI)
' 2. Automotive Research Association of India (ARAI)




/< 3 Automotive Organisation (AO)
/< 4 Research Association of India (RAI)

Question ID : 98958010190
Status : Answered
Chosen Option : 2
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Question ID : 98958010234
Status : Not Answered
Chosen Option : --
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Question ID : 98958010213
Status : Not Answered
Chosen Option : --
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Question ID : 98958010189
Status : Not Answered
Chosen Option : --
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Question ID : 98958010211
Status : Answered
Chosen Option : 4

Q.8 - ' oy e Beter wEds (SUHTE) SN 3w [ATRE T ST Fh WA Tt

S it ¥ wafam ést vE S T Femr T E
X geaEEr FEhue R @
v 2 gurEHER @fasr 89 Feamr A
X3 gerE Fterer e o=
X4 ST I I

Question ID : 98958010197
Status : Answered
Chosen Option : 2

Qésmﬁ:mﬁ#wﬁaanﬁamr%mwm F @ BT ¥
X1 offms F9me
X 2 M g
W 3 TS0
X4 FeRTEE
Question ID : 98958010195
Status : Answered
Chosen Option : 3
Q.8 The Hindu Prize 2018 for Fiction was awarded to . the English author of ‘Requiem in Raga Janki’ during the

7 The Hindu Lit for Life 2019,

/< 1. Vinayak Varma
/< 2. Rajiv Elipe
/< 3. Mamta Nainy

' 4 Neelum Saran Gour

Question ID : 98958010187
Status : Not Answered
Chosen Option : --

Q.8 F=aft 2019 & wuraad lE TS Y TS T T BIAFST & 3T TS F BTN 0  F

8 v ew ¥ wiEe T Rie-amEe 3% e e (ofem i) & 2

Euld

212,000 3E

& N o & w




v 2 6,000 F=T
X< 3 9,000 F=
X 4 4,000 &=

Question ID : 98958010186
Status : Not Answered
Chosen Option : --

9 = & wwE 3w & Trodw a@ §
e X1 e S
X Bt gy
X+ g g
v ¢ e wredr

Q.8 FASY 2019 # FHEAE & ToAIS FAIHEE [ied 7 TOS T [EER To ar| Bt @

Question ID : 98958010215
Status : Not Answered
Chosen Option : --

Ans 5 1. Charles Darwin
/< 2. Carl Woese
/< 3. William Paley

+ 4 Robert Whittaker

069 The five kingdom concept of classification of organisms was given by:

Question ID : 98958010231
Status : Answered
Chosen Option: 3

1

Are X T T=
X 2 3% weAaH
X3 T Aty FfEe
v g A

Q.9 & Fa 2019 # FF5 # aRAw B & TG TRy # 35Ees

Question ID : 98958010196
Status : Answered
Chosen Option : 2

et 9T TTE #r g

Ans ?(1. mﬁ?ﬂﬁﬂlﬁ

Q.9 g & wad FH 35 % w@iwg a9 v § O 9 s S it A Amedet § s




X 2 F§aW T
v . oo faEea

X4 Aga g

Question ID : 98958010214
Status : Not Answered
Chosen Option : --

Qé" ST N A T R AT A A ST S S IR F R A AT s ¥
e e efeT 59 W A IR s9e Il gw 7 oA

Ans o B
X 2 AT gaaa S
X3 FEUNE FA JAAET
X 4 FforeT H#R 3egeT

Question ID : 98958010203
Status : Not Answered
Chosen Option : --

Q0 St 2019 ¥ e AT St e F AEwfE s T 32
e XK. gERTer FEEeR

X 2 9y e

X 3 FeAET TiE

v e

Question ID : 98958010200
Status : Answered
Chosen Option : 4

%9 Olfactory receptors are located in our:
Ans  of 1. Nose

/< 2. Tongue

/X 3. Eyes

#< 4. Ears

Question ID : 98958010210
Status : Not Answered
Chosen Option : --

Y ST § ¥ g9 o F7 oTRg w2y #iF @ 7
Ans «1(_4.&:'?@1:'.




X 2 grer 3T R gEe

?(3.3?_@'&
X4 zaa 3R &=

Question ID : 98958010223
Status : Not Answered
Chosen Option : --

059 T AR & W 3 Afgen & w7 # wE G A § e e 1178 F HET |
K AgEEe BT e

X 2. 3eT- Tollg- AgFAS

v . AgFAS T

X 4 AGFAT HA THT

Question ID : 98958010232
Status : Not Answered
Chosen Option : --

Qé9 e TEHR g W 6 ATt & Rar ser §) Seterad & @ wie-ar Aol & 7 wg R s

e X it e
X 2 3yeemE
v 3 aifora
X 4 mrfgem

Question ID : 98958010229
Status : Answered
Chosen Option : 3

Qé9 feFaT 2018 # e F yfSw i =y A= & F Higer vFa & Baw e

A X g geETE
v 2. Frerar Rreer
X s I FAL

X 4. TS STeHehat

Question ID : 98958010217
Status : Not Answered
Chosen Option : --

%(')‘ oA 9397 # =0 #4r W g« FERVT 9T JET A2y H ATH T o S S F




X 2 g st
X 3. 31T AT
' o ofer TTer

Question ID : 98958010191
Status : Not Answered
Chosen Option : --

Q.1 &z O 3@ v% Fe7 ¥ wweX forel fig P & @i a1 & ¥ W@ PA 3 PB #1 A 3R B 309 W g
01 ¥ #fr ,APB = 40°, & ~OAB &TT &

Ans X1 Bp°
V2 20°
X3 40°
X4 25°

Question ID : 98958010320
Status : Answered
Chosen Option : 2

Q1 a4 3 4 3 u
02 d=-+— af T4~ —= isequal to
5 7 5 10 5

X

Ans

Question ID : 98958010290
Status : Answered
Chosen Option : 3

Q1 o wlver F 54% faeamdt e & st ge afv 42% Regnd wiE # s gol af 32%
03 fagamef areit Rawait 2 srgeeiiot g i Fraer st Regr @t vt 3 st go?
Ans X 1. 32%

X 2 48%

X 3 56%

v 4 44%

Question ID : 98958010299
Status : Answered
Chosen Option : 4

Q.1 el & 77 & 15% # Fal g8 F AT @od # foraw ofewrd & 3 & afF @77 # F¢ Mada

Ans




300

Xmﬁ%
X2 2y
x> Do
v %}%

Question ID : 98958010298
Status : Answered
Chosen Option : 4

0 T x+1=5, d@rat+ L Prafafa F ¥ R s @
As o 1110

<2130

X3 145

<4125

Question ID : 98958010316
Status : Answered
Chosen Option : 1

Q.1 97 A 3R B F#w: 6 6 #RX 9 ¢ & T &F oK T § AW 9T C, 12 "¢ F qu F el =
06 oar ¥ of ¥ @ @ W AW 9T TF Ty @ A ¥ ar ¥ I 35% HT A 6§ aw
FTTT?

Ans Xl -15
v218
X316
X419

Question ID : 98958010307
Status : Answered
Chosen Option : 2

Q.1 ABCD & whmr =agsi=r & Srast AB $8 WX & Iod &1 =@ &1 HIoT ADC = 140° & & 0T BAC &
07 zm gem:

ans f 1 BQO
X2 40°
X3 60°
X4 38°

Question ID : 98958010319
Status : Answered
Chosen Option : 1




Q1 HeET-3eE 'Y # wEE #1 E (EU T 4,50.000)

08
" T
= g@T
nie
u

u &Y =

w717 ¥ = (pie-chart) # ¥, driT it $F = T =T F gEer F s T Bty o=t w e
T F HAIS T E?

Ans X' 1.4 :5
v29:11
X33:5
X43:7

Question ID : 98958010332
Status : Answered
Chosen Option : 2

ar (ABC) = 9
ar (A PQR) 4’

e X112 o
X2 8 |
V'3 10 o
X2

%-;uﬁ'AABCNAQPR, AC = 12 @41, AB = 18 ¥# Jur BC = 15 ¥4, af PR =& &

Question ID : 98958010322
Status : Answered
Chosen Option : 3

Q.1 7 20,000 & T &1 15 HE & T 10% 9fa 99 & & | e @aifed wwaie == 9T der
10 fyor smear 31 15 @@ & 31 3 SiNeIT o1 (GUHGT & TH I G) A ET?

Ans  of 1.13.0%
X 2 12.5%
X3 13.4%
X 4 13.6%

Question ID : 98958010304
Status : Not Answered
Chosen Option : --

Q.1 5 cubes, each of edge 4 cm, are joined end to end. What is the total surface area of the resulting cuboid?
11

Ans X 1. 526 cm?
X 2 486 cm?
X< 3. 720 cm?
v 4 352 cm?




Question ID : 98958010313
Status : Answered
Chosen Option : 4

.1
(:2 Fiam # FEe M wsmeat @ @ A, B, C, D HRE

©Er FT Hear

feT 91T X IF (bar graph) &, szt AR FEfFAT F gfRwg FR FF Fo=w &
(38 Flost & Tl BT T TEIT H HUR AAH) FEH 82

Ans X-I_ B

E
V3D
A

Question ID : 98958010328
Status : Answered
Chosen Option: 3

Q.1 [sin?24°+sin%66°

13 m-l- sin261°+cos6l°sin29°] Hmmﬁﬁmmt
Ans x-l-!

X223
Vs 2
x40

Question ID : 98958010324
Status : Answered
Chosen Option : 3

Q.1
14 Fa= # FEEt X Fereat @ #guw A, B, C, D HRE

BOO
700
600
500
400
300
200

TE FT HEar

100 -

Q

T 7T IX T% H Tt Fiowr F F=har S TEar &1 diEa Far 27

Ans X 1. 600
' 2 560
X 3. 540




X 4 550

Question ID : 98958010329
Status : Answered
Chosen Option : 2

Q1 715000 FruT Fr i =TT T 12% s Wl aw o a1 10% FFT T FRUT o= ST ¢
1S fordrer fomar = 1 af 2 a9 & 3i@ & g = T 3,344 F A 10% WY a¥ ¥ X W R
s & o &2

Ans X1 T 6,600
v 2 T 6,400
X 3 T 6,500
X 4 T 6,200

Question ID : 98958010303
Status : Answered
Chosen Option : 2

Q.1 F-FEE @ # G 1 EA (@07 4,50,000)
16

u T

= T

w e
L)

u f@fEy ot

T T E T (pie-chart) H, T T T AT SO, Wi W T T 09 o fRaer 9o 27
Ans X 1. 55%

X 2 45%

< 3 40%

v 4 50%

Question ID : 98958010331
Status : Answered
Chosen Option : 4

Q.1
17

wEr # HEar
enboanshERE

100905 105110 110415 115120 120425 125130

e
T 71T @A (Histogram) #, fraer e ReanfEat $r F=m$ 105-110 F 3cmer & 3mwei?
Ans - X1 18%
X2 17%
V'3 17.5%
X 416.5%

- 17 =
1 15
} Bl 13

T




Question ID : 98958010333
Status : Answered
Chosen Option : 3

Q‘Q v g 1 o=mT 10 FW, 24 T 3T 26 A F 3EF 9AE Fa W 3.5 W B F 7 I
1
S ¥I ged & A A 9t A Ry A otge Mo w1 a2 e (n - 2)

e X1 7575 A’
X2 7825 ¥’
v'5 100,75 3=
X4 815 g’

Question ID : 98958010312
Status : Answered
Chosen Option : 3

% TfE tan x = cot (45°+ 2 x), aF x F AT FIT ZEM?
Ans ?(T 450
X2 20°
45°
3, e
= 2

v 15°

Question ID : 98958010323
Status : Answered
Chosen Option : 4

Q.1
20

17

oIE FT TE

enenwBERERE

100405 105410 110415 115420 120135 125130

FS
T 71w 3mEaRe (Histogram) #, feanat & afegsr =% (median height) @ St & e 32

Ans o 1.110-115
X 2 105-110
<3.120-125
4 115-120

+ 13 135 H
i

Question ID : 98958010334
Status : Answered
Chosen Option: 1

Q.1 A,Bﬁzcﬁmma:ragm?m:5:6%rwmmm§v#@mﬁmzﬁsﬁﬁw
21 a7 ma §1 A 3W FF # 3SR F 9@ a e

ans 1. 40




X2 30
X3 36
v 1 45

Question ID : 98958010306
Status : Answered
Chosen Option : 4

Q.1

9p eI @Y & @EIE 7 E (FI0TT 4,50,000)

LEzar)
L eI
(]
u A

w T ot

f&w =1v 915 =L (pie-chart) &, 57 e W Fa @7 (Faed #) Baam 22
Ans X 1. 20%
X 2 25%
<3 18%
v 4 30%

Question ID : 98958010330
Status : Answered
Chosen Option : 4

Q.1 7 2% & O T F FF F aeT F4r ¥ Y 15, 18 T 24 § ReET FS W G hF gAr F
23 o & war & 3 S 13 ¥ R ¥

Ans X' 1. 15
X216
VERY,
<418

Question ID : 98958010289
Status : Answered
Chosen Option : 4

g-; T a®— B =208 TUT a-b = 4, A (a+hb)? —ab AERATT & T o awaw gem

Ans  of 1 5D
< 2 38
X3 42
X4 32

Question ID : 98958010317
Status : Answered
Chosen Option : 1




Q.1 ¢ 3 BT I T e # Roemet 2 T Fear anr e a9v o § 5§ TR ¥ Fae e e
25 FrmEa 2

Ans X 1. 24
v 27
X3 25
X4 36

Question ID : 98958010314
Status : Answered
Chosen Option: 2

Q.1
26

17

oE #1 H@er
ensnwBRERR

100405 105110 110415 115420 120435 125430

e
ﬁvmamaﬁsrmistogram)ﬁ,mﬁ@ﬁﬁaﬁrmmmm#wmmmﬁ?
Ans X 1.116.8 BFT
v 21147 ¥
<3 116.2 a#r
<4 1156 B#r

| s uu
o)

Question ID : 98958010335
Status : Not Answered
Chosen Option : --

0271 T THEGHS B = 5 B AR swer e Rt 8 d ¥ wEegEs & aee F4 §?

X1 a0
V2 24 AF’
X3 30 g
X4 20 g

Question ID : 98958010311
Status : Answered
Chosen Option : 2

Q.1 T GHEER 3 WA H HAT $H YER Hihd F § & 25% 7 G & % 9% 38§ 20% F Ay
28 oo §1 afy B Ivg 7 FOEET T 460 ¥ A SEE e ew Twwrated § & S g

ans X1 T 725
X2 T 752
X3 T 748
v T 736




Question ID : 98958010295
Status : Answered
Chosen Option : 4

Q.1 A B 3k C & s 755,000, 65,000 3R 275,000 1 e 3% & =wa@¥ % &l A T
29 Fraeier AEER § R ST w1 20% S gea 97 ST §) AW o By F e F fata
o e 31 oy Fw amer T 87,750 ¥, & A w fewen wm g

Ans o 1. ¥ 37,350
< 2 ¥ 27,000
< 3. T 23,000
X 4 ¥ 37,500

Question ID : 98958010302
Status : Answered
Chosen Option : 1

Q.1 zr F=wd 4 : 5 & wgoa F § I 399 Fgeanm TASAF (HCF) 16 &, & 57 @t weamsd & 7w gom:
30

ans X1 124
X 2 150
v 144
X 4160

Question ID : 98958010288
Status : Answered
Chosen Option : 3

Q1 E75xE75%¥6754+325%325%325 :
31 fr=fofea 7 & Gas st &

67.0xX67.5+32.5%32.5—67.3X32.5

Ans X1.1,000

/< 210,000
+ 3 1,00,000
< 4100
Question ID : 98958010292
Status : Answered
Chosen Option : 3
Q.1
32 widw # wEwt R FEmegt @1 gew A, B, C,D HRE
= A
= SSTEROT

TET #T e
i

T 71T I IF (bar graph) #, T 5 Fioel H Fo d5F A ASTHAT F FFaE F1 32




Ans  of 1 15
X214
<313
X412

14
15
12

13

Question ID : 98958010327
Status : Answered
Chosen Option : 1

Q1 g3, 22 +{4§_(2§ + 2))) Ffefem # & s st &

Ans 1 5

X
SIS

Question ID : 98958010291
Status : Answered
Chosen Option : 2

Q.1 v A= 2 oF 27 Bee F urr 7 feem & 30 B sk oy 6 e & Bl 24 G ST mear B
34 grar & 7w 74 Taere 3 unw & R & 20 R 3l o & Rl 8 R o medr ¥ wig = & A

#r =it (e Far g

Ans 1. 24
X2 20
Vs 22
X418

Question ID : 98958010310
Status : Not Answered
Chosen Option : --

Q1 Ffy (x—5)°+ (x— 62+ (x—7)*=3(x— 5)(x— 6) (x—7), & x T AT T gam?

35

Ans X118
X2 7
v': 6
X5

Question ID : 98958010318
Status : Answered
Chosen Option : 3

Q.1 10.8 3T 4.8 % = FeT HGEES (mean proportional) FaT 2 AT 4 & AT TS T TreTReT

36 frgar g2

Ans




v 1152
X282
X310.2
X411.2

Question ID : 98958010301
Status : Answered
Chosen Option : 1

Q.1 m#mmgﬁwaﬂ'&,aﬁ?ﬁﬂﬁaamﬁmm%%iana=z ofE O F uE
37 faw w5 A T £ A W B Fw e

Ans X 1.525 #r
v 2 625 &
X3 45 #
X4 375 A

Question ID : 98958010325
Status : Answered
Chosen Option : 2

Q.1 ﬁﬁ%ﬁsam@t@?ﬁﬁm%wﬁmmw15@3’52’&#@?@%1 AfFT, 3R
38 ug g0 ReEE Fr ot & ok ¥ A T S0 7 Tee 1 AW @ v §1 39 A I A O@ E
# wér-Edr e 'R R

fns X121 e
X218 fAse
V'3 17 fiee
X 4 20 =

Question ID : 98958010309
Status : Answered
Chosen Option : 3

% 20%,10% T 15% H&e qF & TAGeT Tehel a8 FAT G2

Ans X1 42.2%
v 2 388%
X3 435%
X 4 445%

Question ID : 98958010296
Status : Answered
Chosen Option : 4

Q.1 v gFmer & 37l aF Feget F F T2F A T 9471 F W ¥ 39 | TE W W 23% F AT ga
40 st ggy w30 23% @il gE1 SU go Fraw s s A At g A

A of 1. 5.20% g




X 2 6.29% e
X 3. 6.29% gTﬁ-T
X 4 5.29% omsT

Question ID : 98958010300
Status : Answered
Chosen Option : 3

3-11 afy A #r 31T, B # 3T & 40% 0w ¥ A B 1 A, A F 3w @ e wied w9 82
Ans X1 2?3%

v 282%

X3 282%

x 4 2?“;%

Question ID : 98958010297
Status : Answered
Chosen Option : 2

Q.1 qﬁiﬁ?rs‘si%a;maﬂ?gv,24a:ﬁﬂ,mma?rzmﬁ1oﬁ?ﬁﬁq;nmm§| 16 feat
42w STt 6 Ot w A Y 5W FE 4 s B U A & O Fheet st B e
Frei?

Ans ?(1- 32
X2 36
v 40
X 4 48

Question ID : 98958010305
Status : Answered
Chosen Option: 3

Q.1 16 Femst #7 swa 48 ¥ wum 7 Tt F7 sitET 45 § o3l e 6 Hwmmatt av siteE 52 ¥ s
A3 1 g 157w @ 11w § e 169w @ 5 R Ear 159 ik 167 gw @ st
T greir?

ans X 1. 475
X2 49
X3 485
Vi 48

Question ID : 98958010294
Status : Not Answered
Chosen Option : --

Q1 g a7 A iR B Fewr: 6 % AT ¢ W F wF IF R THA {1 TE TET A F oF FF T aan &
44 1 5 ¥ O o T § i e 5T F aw e

Ans




X
w
TSONS I

Question ID : 98958010308
Status : Answered
Chosen Option: 2

‘}; OF HH HT TEAT 4:4y96 T 88 T e §, I (x +2y) F AT FIT 2?2

Ans  of 1 13
<212
<310
X411

Question ID : 98958010287
Status : Not Answered
Chosen Option : --

Q.1 50 fEzmfimt #r v Fem & 40% w=fmr §1 75 F Ao 3977 62 kg ¥ 3R Tt 7 siee a=w
46 58 kg g1 T &l 1 fad a= (kg H) FT &2

Ans 1. 60.8
X 2 60.6
X 3.60.2
v 4 60.4

Question ID : 98958010293
Status : Not Answered
Chosen Option : --

Q1w g 7 =TT 150 Y3t T & I § 3 sEhr S 20 [ F w & I ¥ sor
4T a3 e e g @

Ans X1 600%
X 2 80%
X 3. 500%
v 4 400%

Question ID : 98958010315
Status : Not Answered
Chosen Option : --

% atatEE & ¥ frge e o oiew dew
Ans X 1. 5768.28

W2 1354.24
X 3.1250.49




X 4 6250.49

Question ID : 98958010286
Status : Not Answered
Chosen Option : --

Q.1 A ABC #, <A = 50° &1 s\t =¥ AB 31 AC fig D 3l E 7% =er$ oeh &1 afy «CBD 3k
49 £BCE ¥ wagfas=® g O W fAew €, o «BOC =mw #rm:

ans of 1 G5©
X2 B5°
X 3.40°
X 4 75°

Question ID : 98958010321
Status : Not Answered
Chosen Option : --

?5(: 10 #r 5= Us SARE & OF § UF aaT & ¥ o7 a0 10T 60° FUT av F R=er Rew @
FEATT BT 6, S tan@ = 1 §| TR B FnE (Frwew) At F e

Ans X133 #r
X 2 35 #r
V'3 36
X434 Fr

Question ID : 98958010326
Status : Not Answered
Chosen Option : --

Q.1

5, Select the synonym of the given word.

AMPLIFY
Ans X 1. satisfy
/< 2. electrify
< 3. supply
v . magnify

Question ID : 98958010409
Status : Answered
Chosen Option : 4

?5'21 Select the word, which means the same as the group of words given.

A fortress typically one on high ground above a city
Ans 1. palace

/< 2. colossus




/< 3. tower
W 4 citadel

Question ID : 98958010426
Status : Answered
Chosen Option : 2

%; Identify the segment in the sentence, which contains the grammatical error.

To my point of view he should not have behaved in such a manner.

Ans - 1. behaved
/< 2. should not have
#< 3. in such a manner
+ 4 To my point of view

Question ID : 98958010389
Status : Answered
Chosen Option : 4

54
VANITY

Ans  of 1. humility
/< 2. timidity
< 3. dignity
/< 4 pride

Q1 Select the antonym of the given word.

Question ID : 98958010415
Status : Answered
Chosen Option : 1

?551 Identify the segment in the sentence, which contains the grammatical error.

I thanked him for his advices.
Ans X 1. for his
v 2 advices
& 3 him
X 4 I thanked

Question ID : 98958010386
Status : Answered
Chosen Option : 2

Q.1
56

REPLETE

Ans

Select the synonym of the given word.




/< 1. occupied
v 2 full

X 3 calm

X 4 restful

Question ID : 98958010411
Status : Not Answered
Chosen Option : --

Q.1 ;
s, Select the wrongly spelt word.

Ans  of 1. dissappoint
X 2. discomfort
& 3. disallow
/< 4 disappear

Question ID : 98958010428
Status : Answered
Chosen Option : 1

ng Select the most appropriate meaning of the underlined idiom in the given sentence.

A friend is no friend if he leaves vou in the Iurch.

Ans 3 1. take advantage of someone

< 2. make a fool of someone
+ 3 leave someone in a helpless condition

/< 4. leave for one’s own work

Question ID : 98958010421
Status : Answered
Chosen Option : 3

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
59 substitute it, select No substitution required.

Everybody wants to be winning a prize in the arts competition.

Ans X 1. No substitution required
' 2. wants to win
/< 3. want winning

/< 4 wants to have won

Question ID : 98958010392
Status : Answered
Chosen Option : 2

Comprehension:




In the following passage, some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

What does the word scout mean? During a war a soldier is chosen to go

(1) of an army in order to (2) out where the
enemy is. He then (3) back to the commander all the
(4) he has gathered about the (5). Such a soldier

is known as a scout.

SubQuestion No : 160

Q. Select the most appropriate option to fill in blank
No. 1.
Ans < 1. behind
< 2 after
#< 3. before
« “ ahead

Question ID : 98958010402
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

What does the word scout mean? During a war a soldier is chosen to go

(1) of an army in order to (2) out where the
enemy is. He then (3) back to the commander all the
(4) he has gathered about the (5). Such a soldier

is known as a scout.

SubQuestion No : 161

Q.1 i E = _
o1 Select the most appropriate option to fill in blank
No.2.
Ans 1. carry
v 2 find
/< 3. bring
< 4 call

Question ID : 98958010403
Status : Answered
Chosen Option: 2

Comprehension:




In the following passage, some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

What does the word scout mean? During a war a soldier is chosen to go

(1) of an army in order to (2) out where the
enemy is. He then (3) back to the commander all the
(4) he has gathered about the (5). Such a soldier

is known as a scout.
SubQuestion No : 162

Q) Select the most appropriate option to fill in blank
No.3.

Ans  of 1. reports

< 2 tells
< 3 sends
< 4 carries

Question ID
Status : Answered
Chosen Option :

: 98958010404

1

Comprehension:

In the following passage. some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

What does the word scout mean? During a war a soldier is chosen to go

(1) of an army in order to (2) out where the
enemy is. He then (3) back to the commander all the
(4) he has gathered about the (5). Such a soldier

is known as a scout.

SubQuestion No : 163

Q.1 ; : : !
o3 Select the most appropriate option to fill in blank

No.4.

Ans 1. communications
X 2. news
/X 3. messages

« 4 information

Question ID : 98958010405
Status : Answered
Chosen Option : 4

Comprehension:




In the following passage, some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

What does the word scout mean? During a war a soldier is chosen to go

(1) of an army in order to (2) out where the
enemy is. He then (3) back to the commander all the
(4) he has gathered about the (5). Such a soldier

is known as a scout.

SubQuestion No : 164

Ans

Q.1 : 5 - _
ea Select the most appropriate option to fill in blank
No.5.

Ans 1. army

< 2 soldiers

o 3. enemy

< 4 commanders

Question ID : 98958010406
Status : Answered
Chosen Option : 3
Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
65 substitute it, select No substitution required.
This is the first time anybody have explored into this part of the country.

Ans % 1. No substitution required

/< 2. anybody have explored this part

« 3. anybody has explored this part

/< 4. anybody has explored into this part

Question ID : 98958010393
Status : Answered
Chosen Option : 4

%-; Select the word, which means the same as the group of words given.

a medical specialist who administers drugs for relieving pain during surgery
/< 1. nephrologist
/< 2. dermatologist
' 3 anesthetist

/< 4. analgesic

Question ID : 98958010425
Status : Answered
Chosen Option : 3

Q.1
67




Select the most appropriate word to fill in the blank.

You will not be allowed in the Film Festival you have a photo ID card.
Ans 2 1. whether
v 2 unless
< 3 in case

X 4 if

Question ID : 98958010398
Status : Answered
Chosen Option : 2

Comprehension:




Read the following passage and answer the questions given after it.

Tutankhamun was an Egyptian pharaoh who was buried in a lavish
tomb filled with gold artifacts in the Valley of the Kings. His tomb was
discovered in 1922 by an archaeological team led by British
Egyptologist Howard Carter.

The tomb was mostly intact, an extraordinary find given that most of
the tombs in the Valley of the Kings had been looted in ancient times.

But while Tutankhamun's tomb was lavish, historical and
archaeological evidence indicates that the young pharaoh was sickly
and spent his short rule trying to undo a religious revolution that his
father had started.

Tutankhaten (as he was called at birth) was born around the year 1341
B.C. His father was the pharaoh Akhenaten, a revolutionary pharaoh
who tried to focus Egypt's polytheistic religion around the worship of
the sun disc, the Aten. In his fervor, Akhenaten ordered the names and
images of other Egyptian deities to be destroyed or defaced.

Tutankhamun ascended to the throne around 1332 B.C., when he was
about 9 years old. Given his young age he would have relied heavily on
his advisers. At some point his name was changed to Tutankhamun,
removing the word "aten" — a reminder of his father’s religious
revolution — from his name.

Tutankhamun also condemned his father's actions in a stela (a stone
with inscription) found at Karnak, saying that Akhenaten's religious
revolution caused the gods to ignore Egypt. Part of the stela reads "the
temples and the cities of the gods and the goddesses, starting from
Elephantine as far as the Delta marshes ... were fallen into decay and
their shrines were fallen into ruin, having become mere mounds
overgrown with grass ... The gods were ignoring this land..."

Archaeological evidence indicates that Tutankhamun suffered from ill
health. A study of his remains published in 2010 found that he suffered
from a variety of maladies, including malaria and Kohler disease (a
rare bone disorder of the foot). A number of canes have been found in
Tutankhamun's tomb, finds that support the idea that the pharaoh had
difficulty walking at times.

It's not known what killed Tutankhamun. There have been numerous
hypotheses put forward over the years. It's been suggested that he died
from an infection caused by a broken leg or from injuries suffered in

a chariot accident.

The boy king died in 1323 B.C. around the age of 18. His death was
unexpected, and his tomb appears to have been finished

quickly. Microbes found on the wall of the tomb indicate that the paint
on the wall wasn't even dry when the tomb was sealed.

Howard Carter's team discovered the tomb's entranceway on November
4, 1922, and on November 26 they got inside.

‘While the treasures were incredible, the tomb was unusually small for a
pharaoh's burial, containing only 110 square meters (1,184 square feet)
of floor space. The tomb's small size may have been because the
pharaoh died young and unexpectedly and there wasn't time to carve
out a larger tomb.




SubQuestion No : 168

Q. What is the main theme of the passage?

Ans X 1. The death of Tutankhamun and his burial
« 2. The life and death of the boy Pharaoh

#< 3. The tomb of Tutankhamun
#< 4 The discovery of an incredible treasure

Question ID : 98958010433
Status : Answered
Chosen Option : 4

Comprehension:




Read the following passage and answer the questions given after it.

Tutankhamun was an Egyptian pharaoh who was buried in a lavish
tomb filled with gold artifacts in the Valley of the Kings. His tomb was
discovered in 1922 by an archaeological team led by British
Egyptologist Howard Carter.

The tomb was mostly intact, an extraordinary find given that most of
the tombs in the Valley of the Kings had been looted in ancient times.

But while Tutankhamun's tomb was lavish, historical and
archaeological evidence indicates that the young pharaoh was sickly
and spent his short rule trying to undo a religious revolution that his
father had started.

Tutankhaten (as he was called at birth) was born around the year 1341
B.C. His father was the pharaoh Akhenaten, a revolutionary pharaoh
who tried to focus Egypt's polytheistic religion around the worship of
the sun disc, the Aten. In his fervor, Akhenaten ordered the names and
images of other Egyptian deities to be destroyed or defaced.

Tutankhamun ascended to the throne around 1332 B.C., when he was
about 9 years old. Given his young age he would have relied heavily on
his advisers. At some point his name was changed to Tutankhamun,
removing the word "aten" — a reminder of his father’s religious
revolution — from his name.

Tutankhamun also condemned his father's actions in a stela (a stone
with inscription) found at Karnak, saying that Akhenaten's religious
revolution caused the gods to ignore Egypt. Part of the stela reads "the
temples and the cities of the gods and the goddesses, starting from
Elephantine as far as the Delta marshes ... were fallen into decay and
their shrines were fallen into ruin, having become mere mounds
overgrown with grass ... The gods were ignoring this land..."

Archaeological evidence indicates that Tutankhamun suffered from ill
health. A study of his remains published in 2010 found that he suffered
from a variety of maladies, including malaria and Kohler disease (a
rare bone disorder of the foot). A number of canes have been found in
Tutankhamun's tomb, finds that support the idea that the pharaoh had
difficulty walking at times.

It's not known what killed Tutankhamun. There have been numerous
hypotheses put forward over the years. It's been suggested that he died
from an infection caused by a broken leg or from injuries suffered in

a chariot accident.

The boy king died in 1323 B.C. around the age of 18. His death was
unexpected, and his tomb appears to have been finished

quickly. Microbes found on the wall of the tomb indicate that the paint
on the wall wasn't even dry when the tomb was sealed.

Howard Carter's team discovered the tomb's entranceway on November
4, 1922, and on November 26 they got inside.

‘While the treasures were incredible, the tomb was unusually small for a
pharaoh's burial, containing only 110 square meters (1,184 square feet)
of floor space. The tomb's small size may have been because the
pharaoh died young and unexpectedly and there wasn't time to carve
out a larger tomb.




SubQuestion No : 169

Q. The discovery of a number of canes in the tomb
indicates that Tutankhamun:

Ans  of 1. had difficulty in walking.
#< 2. had fallen from a chariot.
#< 3. suffered from an infection.
#< 4 suffered from Malaria.

Question ID : 98958010434
Status : Answered
Chosen Option : 1

Comprehension:




Read the following passage and answer the questions given after it.

Tutankhamun was an Egyptian pharaoh who was buried in a lavish
tomb filled with gold artifacts in the Valley of the Kings. His tomb was
discovered in 1922 by an archaeological team led by British
Egyptologist Howard Carter.

The tomb was mostly intact, an extraordinary find given that most of
the tombs in the Valley of the Kings had been looted in ancient times.

But while Tutankhamun's tomb was lavish, historical and
archaeological evidence indicates that the young pharaoh was sickly
and spent his short rule trying to undo a religious revolution that his
father had started.

Tutankhaten (as he was called at birth) was born around the year 1341
B.C. His father was the pharaoh Akhenaten, a revolutionary pharaoh
who tried to focus Egypt's polytheistic religion around the worship of
the sun disc, the Aten. In his fervor, Akhenaten ordered the names and
images of other Egyptian deities to be destroyed or defaced.

Tutankhamun ascended to the throne around 1332 B.C., when he was
about 9 years old. Given his young age he would have relied heavily on
his advisers. At some point his name was changed to Tutankhamun,
removing the word "aten" — a reminder of his father’s religious
revolution — from his name.

Tutankhamun also condemned his father's actions in a stela (a stone
with inscription) found at Karnak, saying that Akhenaten's religious
revolution caused the gods to ignore Egypt. Part of the stela reads "the
temples and the cities of the gods and the goddesses, starting from
Elephantine as far as the Delta marshes ... were fallen into decay and
their shrines were fallen into ruin, having become mere mounds
overgrown with grass ... The gods were ignoring this land..."

Archaeological evidence indicates that Tutankhamun suffered from ill
health. A study of his remains published in 2010 found that he suffered
from a variety of maladies, including malaria and Kohler disease (a
rare bone disorder of the foot). A number of canes have been found in
Tutankhamun's tomb, finds that support the idea that the pharaoh had
difficulty walking at times.

It's not known what killed Tutankhamun. There have been numerous
hypotheses put forward over the years. It's been suggested that he died
from an infection caused by a broken leg or from injuries suffered in

a chariot accident.

The boy king died in 1323 B.C. around the age of 18. His death was
unexpected, and his tomb appears to have been finished

quickly. Microbes found on the wall of the tomb indicate that the paint
on the wall wasn't even dry when the tomb was sealed.

Howard Carter's team discovered the tomb's entranceway on November
4, 1922, and on November 26 they got inside.

‘While the treasures were incredible, the tomb was unusually small for a
pharaoh's burial, containing only 110 square meters (1,184 square feet)
of floor space. The tomb's small size may have been because the
pharaoh died young and unexpectedly and there wasn't time to carve
out a larger tomb.




SubQuestion No : 170
Q1 Tutankhamun’s father was a revolutionary. What

70
was his revolution?
Images and names of all the Egyptian deities had
Ko 7
to be destroyed.

/< 2. He wanted his people to be polytheistic.

Ans

Vs He wanted the Egyptians to worship one God —
Aten.

Egyptians were asked to have no religion and no
god.

X 4

Question ID : 98958010435
Status : Answered
Chosen Option : 1

Comprehension:




Read the following passage and answer the questions given after it.

Tutankhamun was an Egyptian pharaoh who was buried in a lavish
tomb filled with gold artifacts in the Valley of the Kings. His tomb was
discovered in 1922 by an archaeological team led by British
Egyptologist Howard Carter.

The tomb was mostly intact, an extraordinary find given that most of
the tombs in the Valley of the Kings had been looted in ancient times.

But while Tutankhamun's tomb was lavish, historical and
archaeological evidence indicates that the young pharaoh was sickly
and spent his short rule trying to undo a religious revolution that his
father had started.

Tutankhaten (as he was called at birth) was born around the year 1341
B.C. His father was the pharaoh Akhenaten, a revolutionary pharaoh
who tried to focus Egypt's polytheistic religion around the worship of
the sun disc, the Aten. In his fervor, Akhenaten ordered the names and
images of other Egyptian deities to be destroyed or defaced.

Tutankhamun ascended to the throne around 1332 B.C., when he was
about 9 years old. Given his young age he would have relied heavily on
his advisers. At some point his name was changed to Tutankhamun,
removing the word "aten" — a reminder of his father’s religious
revolution — from his name.

Tutankhamun also condemned his father's actions in a stela (a stone
with inscription) found at Karnak, saying that Akhenaten's religious
revolution caused the gods to ignore Egypt. Part of the stela reads "the
temples and the cities of the gods and the goddesses, starting from
Elephantine as far as the Delta marshes ... were fallen into decay and
their shrines were fallen into ruin, having become mere mounds
overgrown with grass ... The gods were ignoring this land..."

Archaeological evidence indicates that Tutankhamun suffered from ill
health. A study of his remains published in 2010 found that he suffered
from a variety of maladies, including malaria and Kohler disease (a
rare bone disorder of the foot). A number of canes have been found in
Tutankhamun's tomb, finds that support the idea that the pharaoh had
difficulty walking at times.

It's not known what killed Tutankhamun. There have been numerous
hypotheses put forward over the years. It's been suggested that he died
from an infection caused by a broken leg or from injuries suffered in

a chariot accident.

The boy king died in 1323 B.C. around the age of 18. His death was
unexpected, and his tomb appears to have been finished

quickly. Microbes found on the wall of the tomb indicate that the paint
on the wall wasn't even dry when the tomb was sealed.

Howard Carter's team discovered the tomb's entranceway on November
4, 1922, and on November 26 they got inside.

‘While the treasures were incredible, the tomb was unusually small for a
pharaoh's burial, containing only 110 square meters (1,184 square feet)
of floor space. The tomb's small size may have been because the
pharaoh died young and unexpectedly and there wasn't time to carve
out a larger tomb.




SubQuestion No : 171

3'11 Tutankhamun had a short rule. Most of his time
was used in:

Ans  of 1. trying to undo the religious revolution of his father
/< 2. fighting with his own diseases
/< 3. erecting stelas at different places

#< 4. looking after the well- being of his people

Question ID : 98958010436
Status : Not Answered
Chosen Option : --

Comprehension:




Read the following passage and answer the questions given after it.

Tutankhamun was an Egyptian pharaoh who was buried in a lavish
tomb filled with gold artifacts in the Valley of the Kings. His tomb was
discovered in 1922 by an archaeological team led by British
Egyptologist Howard Carter.

The tomb was mostly intact, an extraordinary find given that most of
the tombs in the Valley of the Kings had been looted in ancient times.

But while Tutankhamun's tomb was lavish, historical and
archaeological evidence indicates that the young pharaoh was sickly
and spent his short rule trying to undo a religious revolution that his
father had started.

Tutankhaten (as he was called at birth) was born around the year 1341
B.C. His father was the pharaoh Akhenaten, a revolutionary pharaoh
who tried to focus Egypt's polytheistic religion around the worship of
the sun disc, the Aten. In his fervor, Akhenaten ordered the names and
images of other Egyptian deities to be destroyed or defaced.

Tutankhamun ascended to the throne around 1332 B.C., when he was
about 9 years old. Given his young age he would have relied heavily on
his advisers. At some point his name was changed to Tutankhamun,
removing the word "aten" — a reminder of his father’s religious
revolution — from his name.

Tutankhamun also condemned his father's actions in a stela (a stone
with inscription) found at Karnak, saying that Akhenaten's religious
revolution caused the gods to ignore Egypt. Part of the stela reads "the
temples and the cities of the gods and the goddesses, starting from
Elephantine as far as the Delta marshes ... were fallen into decay and
their shrines were fallen into ruin, having become mere mounds
overgrown with grass ... The gods were ignoring this land..."

Archaeological evidence indicates that Tutankhamun suffered from ill
health. A study of his remains published in 2010 found that he suffered
from a variety of maladies, including malaria and Kohler disease (a
rare bone disorder of the foot). A number of canes have been found in
Tutankhamun's tomb, finds that support the idea that the pharaoh had
difficulty walking at times.

It's not known what killed Tutankhamun. There have been numerous
hypotheses put forward over the years. It's been suggested that he died
from an infection caused by a broken leg or from injuries suffered in

a chariot accident.

The boy king died in 1323 B.C. around the age of 18. His death was
unexpected, and his tomb appears to have been finished

quickly. Microbes found on the wall of the tomb indicate that the paint
on the wall wasn't even dry when the tomb was sealed.

Howard Carter's team discovered the tomb's entranceway on November
4, 1922, and on November 26 they got inside.

‘While the treasures were incredible, the tomb was unusually small for a
pharaoh's burial, containing only 110 square meters (1,184 square feet)
of floor space. The tomb's small size may have been because the
pharaoh died young and unexpectedly and there wasn't time to carve
out a larger tomb.




SubQuestion No : 172

9 Which statement is NOT true according to the
passage?

Ans x 1. The tomb was unusually small for a pharaoh’s

burial.

V2 Howard Carter's team discovered the tomb's
- entranceway on November 26, 1922.

X 3 The tomb appears to have been finished quickly as
~ the paint wasn’t dry when it was sealed

Tutankhamun’s tomb was lavishly filled with gold
X 4
artifacts.

Question ID : 98958010437
Status : Answered
Chosen Option : 2

Q1 Select the most appropriate word to fill in the blank.

73
You have travelled a long way. You be tired.
Ans 1. should
v 2 must
X 3. can
X 4 could

Question ID : 98958010396
Status : Answered
Chosen Option : 2

97 Select the synonym of the given word.
HARASS
Ans x 1. care
/< 2. help
< 3 refuse
4 bother

Question ID : 98958010410
Status : Answered
Chosen Option : 4

3'51 Select the word, which means the same as the group of words given.

the keeper of a museum

Ans 5 1. conservator
/5 2. compere




1’ 3. curator

/X 4 commissioner

Question ID : 98958010422
Status : Answered
Chosen Option : 3

Q1 Select the antonym of the given word.

76
ADVERSITY
Ans < 1. misfortune
/< 2. casualty

/< 3. calamity

W 4 prosperity

Question ID : 98958010414
Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate meaning of the underlined idiom in the given sentence.
77

Many people in our country like to feather their own nest from the money they raise for social work.

Ans 1. provide comforts in one’s house
/< 2. make one’s family comfortable
/< 3. achieve something and be proud of it

« 4 enrich oneself by dishonest means

Question ID : 98958010420
Status : Answered
Chosen Option : 4

3-; Select the most appropriate meaning of the underlined idiom in the given sentence.

He has set up his business now as he knows the ins and outs of it.
Ans  of 1. details
/< 2 usefulness
/< 3. importance
< 4 difficulties

Question ID : 98958010418
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
79 substitute it, select No substitution required.

Thirteen miners were trapped inside a coal mine due to flooding from a nearby river yesterday.

Ans 1. were trapped into a coal mine




/< 2. trapped inside a coal mine
+ 3. No substitution required
/< 4. have been trapped inside a coal mine

Question ID : 98958010394
Status : Answered
Chosen Option : 2

%J Identify the segment in the sentence. which contains the grammatical error.

The old man climbed seven floors with hardly no effort at all.

Ans 1. climbed
& 2. The old man
X 3 atall
+ 4 hardly no effort

Question ID : 98958010390
Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
81 substitute it, select No substitution required.

The cause of the disaster has not yet known but an enquiry has been set up to find out what happened.

Ans 1. have not yet been known

/< 2. was not yet known
/< 3. No substitution required
+ 4 is not yet known

Question ID : 98958010395
Status : Answered
Chosen Option : 4

%21 Select the most appropriate meaning of the underlined idiom in the given sentence.

After getting the news of his promotion, he was in high spirits.

Ans X 1. mad

X 2 drunk

v 3 joyful

/< 4 hopeful

Question ID : 98958010417
Status : Answered
Chosen Option : 3

Q.1




Select the most appropriate word to fill in the blank.

I looked at my damaged car and how much it would cost to repair it.

Ans  of 1 wondered
/< 2. wonder
/< 3. wondering

/< 4 wonders

Question ID : 98958010400
Status : Answered
Chosen Option: 1

%: Select the word, which means the same as the group of words given.

A large enclosure for keeping the birds in
Ans 51 apiary
/< 2. agquarium
v 3 aviary

/< 4 menagerie

Question ID : 98958010423
Status : Answered
Chosen Option : 3

Q1 gSelect the wrongly spelt word.

85
Ans 1. blemish
& 2 blister
# 3. blind
v 4 blossum

Question ID : 98958010427
Status : Answered
Chosen Option : 4

Q1 Select the synonym of the given word.

86
FOREGO

Ans  of 1. give up
/< 2. forget
< 3 ban
/< 4 go ahead

Question ID : 98958010408
Status : Answered
Chosen Option : 1




%71 Identify the segment in the sentence. which contains the grammatical error.

Why she was angry with her son?
Ans x 1. W'h}r
/< 2. angry with
/< 3. her son
v % she was

Question ID : 98958010387
Status : Answered
Chosen Option : 2

%; Identify the segment in the sentence, which contains the grammatical error.

In this novel I came across some words which meaning I do not know.

Ans X 1. do not know
7< 2. In this novel
« 3. which meaning

25 4. came across

Question ID : 98958010388
Status : Answered
Chosen Option : 3

Q.1
89

Ans 5 1. curious
/< 2. precious
/< 3. victorious

« 4 couragious

Select the wrongly spelt word.

Question ID : 98958010431
Status : Not Answered
Chosen Option : --

%‘J Select the wrongly spelt word.
Ans X 1. establish

X 2 esteem

X 3. estimate

W 4 essencial

Question ID : 98958010430
Status : Not Answered
Chosen Option : --

Q.1




91 Select the most appropriate meaning of the underlined idiom in the given sentence.
Don’t take it seriously. He was simply pulling vour leg.
Ans 1. trying to comfort someone
/< 2. scolding someone for nothing
+ 3. playing a joke with someone
/< 4 speaking in a harsh tone

Question ID : 98958010419
Status : Answered
Chosen Option : 3

%; Select the word, which means the same as the group of words given.

a person who eats human flesh
Ans X 1. scavenger

X 2 tribal

/X 3. carnivore

v 4 cannibal

Question ID : 98958010424
Status : Answered
Chosen Option: 3

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
93 substitute it, select No substitution required.

Every year our association is having a meeting to elect the officers.

Ans 1. No substitution required

« 2 has a meeting
/< 3. are having a meeting

/< 4 having a meeting

Question ID : 98958010391
Status : Answered
Chosen Option : 4

Q1 gelect the most appropriate word to fill in the blank.

94
Our new office is equipped all the latest technology.
Ans % 1 by
v 2 with
X 3. from
< 4 about

Question ID : 98958010397




Status : Answered
Chosen Option: 2

Q.1 Select the most appropriate word to fill in the blank.

* The assistant in the library picked up the books from the tables and put  back on the shelves.
Ans x 1 its

v 2. them

X3t

/X 4 they

Question ID : 98958010399
Status : Answered
Chosen Option : 2

Q.1 : .
oe Select the synonym of the given word.

MASSIVE
Ans /1 huge
/< 2. strong
X 3 solid
X 4 thick

Question ID : 98958010407
Status : Answered
Chosen Option : 1

Q.1 b
oy Select the antonym of the given word.

LIVELY

Ans  of 1 sluggish
X 2 active
/< 3. bubbly
< 4. sharp

Question ID : 98958010413
Status : Answered
Chosen Option : 1

Q1 gSelect the wrongly spelt word.

98

Ans o 1. gobbel
X 2 gloss
/< 3. glutton

/< 4 gloomy




Question ID : 98958010429
Status : Not Answered
Chosen Option : --

99
ENTHUSIASM
Ans X 1. fervor
< 2. zeal
« 3 apathy

X 4 nervousness

Q1 gelect the antonym of the given word.

Question ID : 98958010416
Status : Not Answered
Chosen Option : --

Q2 T
oo Select the antonym of the given word.

HOLLOW
Ans of 1 solid
X 2. narrow
X 3. vacant
X 4 shallow

Question ID : 98958010412
Status : Not Answered
Chosen Option : --




